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Total No. of Qustionsr 5l

lTime:2% Hoursl
It struclions to ltre candidotes:

l) Atl qaestions are coapalso4,.
2) Figu.es to rhe right i,rdicnte Jillt n $rks.
3) Use af stafisricat tables dn(t calcltlo;o? is ttllowetl.
4) Symbols hnve tlrctr usucl ,raeaniltgs.

8l) A) Fill in the htanks:
a) In lhe ratio q"a" is calletl

i)

0 Antecedent
ii) Consequent
iii) parameter

. iv) None of the above

b) lf x:y:3 2 and _r..: 30 then y =
i) 42
ii) 2il
ni) 40
&) -'16

SE.{T \q

lTotal l\o. of plgcs:.-31

F.Y. B.B.A
105: BUSINESS MATI{EMATTCS

(2019 Pattern) (Semester-I)

fMttr, M*rks: 701
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d) If cost price is more than selling price ihen_in incurredi) Profit
ti) Loss
rl| Commission
iv) Nono of the ahove

e) (- ) th ofan arnount:

r) 75
ii) 50

o80

^r 
20

9/, of that amounl
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B, Stqtr lyhether the follo&.irg steteuent sre True or Felse :lJ x 2 = 61a) Fo, multiplication of any two matrices the slze of the matrices mustbe sarqe.

b) Evelv Lp problem in two unknowns bas optima.l solutions.

s,I For the arranlemanls ofobjeeB Combination is required.

02l Attempt any I'our of the lbilowing:

a) Tivo nurribers are in thc ratio 3:2 and their sum is 135,b) Find the number rvhose 12% is g6.

c) If [4 {] is a srngutar matrix, then find *re vatue ofr.43-
d) lf'Cr ='C,; , tlieir find,Cz

:] yh" wiil be &e sirnple inrerest on fu.1200 at 10% p.a. for 2 years?1) The sum of presenr ages of 3 pers:m is ff y*. ejr. yEais ago theirages lvere in the ratio 4:d:7. Find their present ages.

[4x4=16l
Find the numbers

14x4-r6J
€.1 Atte mpr irny l'our of the foilowingr

a) Fintj nrif'nf,:= itnC+),
61 lrA:t2 

il, 
find rna*ix X such ttrar 3A-3X=[ 1 l,c) Fi,d dre riifference bchreen cumpouncrinterest*o J*i. *** on R8"500fbr 2 ] ears at I 0% p.a.

d) Find the EMIon a loan of'Rs 500, 000 to be pard ur 5 yearsat I00z6n.a.
, ,ln f: ourstandrng.amounr at rhe u.gt*rg-Jf;r.;;;il. e' 'w,u y.a.

ci A club has 2U gentlemen & j0 ladrei. tn hiu.niany *,a)s car a
.. ::r,n,iT.::f I gentlemen and I ladv Ue ti:rnreAtr) tr a:b= 5:3 b:c= 2:5, find a:c.

OC) Attcnrpt any four of the l.ollowing: [{ x { = 16;

o) Sho\v that the matr,.. . .1 2
'^ ^- t, ,J 

sausfies the equation A2_4A+I=0.
b) rn a primary schoor there ar'e 12 teachers compdsing 7 gentlernen and5 ladies. A Dommrltee of 4 teachers is to Ue i-.oLeO so as to include artcasr 1 gentlemen at l€asr 1 lad;r In ;;;'**y lvays can theeOmmrfiee be firrlnsd,?
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c) A deaier ia lirmiture buvs chairs at Rs.340 each. At what price slrouid be

[]ifl:T#,;,are, 
so that he *,t; ;;ffi,liiir,alrer givurg

d) Explain the term L.p.p rvith its keypoints.
e.,t Following table sbolvs ou*A., oi'.rii.,ilJ cases registered undercyber seourity law.

State whether each of the following is true or rltse:D Maximum c*.,_ 
"iryc;;;rr;,iIJLT,*,o,,.i) lv{axrmum in

2017. 
crease rtr citses occurred rn crty C are Aom

8 Average incre-ase rn cases for the 2015_16 and 2016_17is lo*rsr in cit-r B.iy) Midmum mcrease is found in city.A fiom 20l j-16.

0 E:glain ay four tlpes ofmatrices uith oiample.

C, AtteEpteny onc of f&e fottcwing:
JIai Solve &e follo*.rng L.p.p by. graphicai method :

Minimizez: l0x+ lly
Subjecr to:

12x + 5y .2769
5.r+ l$1'.2969

-I,y >0
,/ Furd the if,!.erse ofthe matrix : A: [3 

_21

1(

Years and
cities

A B C

4V t5 50 60 40
2016 60 65 60
zu t7 60 70 90

#####

20 i6 to

iogether

x6=61


